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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states A

F during the two years 2021 and 2022, along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the data
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female | Qualified (%) | Male : Female
A 18% 54 20% 28:17
B 16% 31 12% 5:3
C 12% 7:5 16% 11:5
D 16% 13:11 15% 15:11
E 25% 13:12 22% 150
F 13% 81 15% 1108

v Total Appeared from | Percentage (%) Qualified
a state A-F from States A-F

2021 142000 45%

2022 180000 32% J

The number of female candidates who qualified from state B in 2021 is approximately
from state A in 2022.
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Table -2 : Year-wise Details of Appeared and Qualified (%) Candidates

% of the male candidates who qualified
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states A

F during the two years 2021 and 2022, along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the data
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female | Qualified (%) | Male : Female
A 18% 54 20% 28:17
B 16% 31 12% 5:3
C 12% 7:5 16% 11:5
D 16% 13:11 15% 15:11
E 25% 13:12 22% 15:9
F 13% 81 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Ve Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 52%

ed (%) Candidates

In 2022 for state A. if four female candidates who qualified are not eligible. then what is the average number of female candidates who

qualified (and eligible) from all the six states together in the year 2022 ?

ol

=

5990
5900
5020
. 5040

3/115



6/16/23, 7:26 PM

3 1603

file:///C:/Users/Administrator/Downloads/46_Live_Mangmt_B1_E/46_Live_Mangmt_B1_E_1-150.html

46_Live_Mangmt_B1_E_1-150.html

19 & 78 aIferet-1 T a9 2021 3R 2022 F SRA ©: AT I501 A-F I U g 9iien I Uwha SEiear] T faavor s (%

ST TR fRIA § SR dfereet 2 & S 31 aul & IR 39 Wien ® i pa Swieart 3 e ok

T B: IS A-F T TRe T I%d SHISIRI 1 U (%) YRkl § | afeerei & velkia aies! & o1yR IR 28 T usi & S|

3R 3E & I2N 9 Wl
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a'ﬂc 2021 2022
W | (%) | TPU-WI | U (%) 0o - Tl
A 18% 54 20% 2817
B 16% 3:1 12% 5:3
C 12% 75 16% 115
D 16% 1311 15% 15-11
E 25% 13-12 22% 155
F 13% 81 15% 119
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states A

F during the two years 2021 and 2022, along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the data
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female | Qualified (%) | Male : Female
A 18% 3:4 20% 28:17
B 16% i 12% 5:%
C 12% T3 16% 11:5
D 16% 13:11 15% 15:11
E 25% 13:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Ve Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 52%

ed (%) Candidates

What is the ratio of the number of female candidates who qualified from states A and C together is 2021 to number of male candidates

who qualified from the same two states in the year 2022 ?

b=

=

.8307:21844
. 8407:21944
. 8307:21944
. 8307:20894
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A 18% 54 20% 2817
B 16% 31 12% 53
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D 16% 1311 15% 15-11
E 25% 13-12 22% 155
F 13% 81 15% 19
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Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states A
F during the two years 2021 and 2022, along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the data
in the tables, answer the questions that follow :

Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female | Qualified (%) | Male : Female
A 18% 3:4 20% 28:17
B 16% i 12% 5:%
C 12% T3 16% 11:5
D 16% 13:11 15% 15:11
E 25% 13:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Ve Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 52%

The number of male candidates who qualified from state E in 2022 is approximately

who qualified from state F in 2021,
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% more than the number of male candidates
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W | (%) | TPU-WI | U (%) 0o - Tl
A 18% 54 20% 2817
B 16% 3:1 12% 5:
C 12% 75 16% 115
D 16% 1311 15% 15-11
E 25% 13-12 22% 155
F 13% 81 15% 1-9
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Table - 1 : State-wise Details of Qualified Candidates in 2021 and 2022.

Year 2021 2022
/State | Qualified (%) | Male : Female | Qualified (%) | Male : Female
A 18% 3:4 20% 28:17
B 16% i 12% 5:%
C 12% T3 16% 11:5
D 16% 13:11 15% 15:11
E 25% 13:12 22% 15:9
F 13% 8:1 15% 11:9

Table -2 : Year-wise Details of Appeared and Qualifi

Ve Total Appeared from | Percentage (%) Qualified
state A-F from States A-F

2021 142000 45%

2022 180000 52%

o =
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BECIGT

ed (%) Candidates

In the year 2021, the number of female candidates who qualified is more than 5000 in exactly

arfar-1 : af 2021 3R 2022 ¥ 9% IHIEARI &7 AsaR faao|

o 2021 2022
B | (%) | TSU-WI | B (%) 0o - Tl
A 18% 54 20% 28:17
B 16% 31 12% 53
C 12% 75 16% 153
D 16% 13:11 15% 15:11
E 25% 13:12 22% 153
F 13% 81 15% 1:9

TTT-2 TRteq & 2l ofk 9%d SHiGaR| &1 IsuaR faaxun|
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4 THIAFAAETTA | Io9 AF § UBhd SHIGARI BT
Iufiear! @ ge TR (%)
2021 142000 45%
2022 130000 52%
¥ 2021 H# dt@ Il H I Afed SFHIGaR] &1 9T 5000 F Hiv@ g1
1.9=
2.4
ERGIE!
4.3

Table-1 below shows the percentage (%) distribution of candidates who qualified in a competitive examination from six different states A
F during the two years 2021 and 2022, along with the ratio of Males to females among them and Table-2 shows the total number of

candidates who appeared and percentage (%) of candidates who qualified from all the six states A-F in same two years. Based on the data
in the tables, answer the questions that follow :
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Objective Question

6 1606 ' 1) which method of collaborative learning the main purpose is to develop listening skills in the students ?

1. cirele of voices

2. problem solving
3. Fishbowl strategy
4. ligsaw strategy

TEanTHE RTE @t o fafy & faenfifat & yau e fawfad o g Wi &2

1. ¥R &1 g (I d S argad)
2. THWT A

3. TR IIg@ uHITd

4. ot Torifa
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3

Ay
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Objective Question

71607 | Which of the following Individual difference(s) may not affect learning ?

A. Cultural background
B. Height

C. Blood Group

D. Age

E. Complexion

Choose the most appropriate answer from the options given below :

1. A. D and E only
2.B. C and E only
.B only

A, Cand D only

L
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Objective Question )
8 1608 | Which of the following are the characteristies of Mind mapping?

A. Built around a central topic.

B. Use of long sentences and paragraphs to explain the content

C. The branches of a particular topic form a connected nodal structure.
D. Use of images and symbaols to represent ideas.

Choose the most appropriate answer from the options given below :

1. A only

2.B and D only
3.A. Cand D only
4.B and C only

fafafad § @ o 3 1 fEu @ s 3ftm & sifiraem g2

A. T favg & afva: (il

B. favga¥] & AReAUd B & (7Y T S Td T 1 4aiT
c. fot fowm fomy &1 wrant e Aisa 9eaqr Aftfa s=dt €

D. [5aRI &1 yeiRia w33 & foru =i ug wdie! & g

e feu e famedl & U 9ad SUgdd SR 1 999 DIGT :

1. Pad A

2. $dd B 3R D
3. HAAA. C 3R D
4.%dd B3R C

Al
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91609 " pfatch List T with List IT

LIST I (CHANNLE NO.)| LIST II (NAME)
A |CH-04 1. [PRABANDHAN]|
B. |CH-05 11 [KAUTILYA

C. |[CH-06 I [SAARASWAT
D. |CH-07 IV. [VIDHIK

46_Live_Mangmt_B1_E_1-150.html

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-1, D-III

2. A-IV. B-IIL C-II, D-I

3. AL B-I. C-IV, D-II

4. A-L, B-II, C-IV, D-III
et 1 1 Yol 11 9 fired= ifeig

T 1- 9 A et 11 - ATH

A |T99a - 04 I EEEE

B. |d- 05 I |@ifee

C. |=9a+ - 06 L |9R%Eq

D. [d9@+.- 07 v |RBlkEs

Al

A2

A3

A4

10

1. A-IL B-IV. C-I. D-III
2. A-IV. B-II C-I1. D-I
3. AL B-L. C-IV. D-IT
4. A-I. B-II. C-IV. D-III

o =

¥

4

4

Objective Question

. Greater ease of grading
. Increased consistency in grading

. Increased subjectivity

. Greater test security
file:///C:/Users/Administrator/Downloads/46_Live_Mangmt_B1_E/46_Live_Mangmt_B1_E_1-150.html

Hie fu 7Tt faoedl | © 981 3R &l 904 Dl

1610 Which of the following is a benefit of using rubrics for evaluation ?
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Objective Question

11 j1sll According to the UGC Regulations, 2018 on plagiarism similarity of 42% refers to which of the following levels of plagiarism ?

b =
Wk = O
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Objective Question

12 11612 | 1pye questions of whether a measure that is devised for a concept really does reflect the concept that it is supposed to be denoting, relates

to

. Measurement validity
. Ecological validity

. Internal validity

. External validity

| S

da o
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Objective Question

13 11613 ' Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Surveys conducted over the internet have witnessed a huge growth since the late 1990.
Reason R : Internet users always constitute an unbiased sample of the population.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R ig NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

9 S By fRU MU § : TP SfUHYT (Assertion A) & U H fAifEd § @1 G9R1 39® PRI (Reason R) T FU T,
HFUHUA A : 1000 F TP P IRIY U Se-e R Sdiferd Hdeon & U 3l ge 5

PRUIR : Se-ic HaIadl 94a Saed] & U@ e Hide”l &f a1 g |

SWIE Y- & HTales 1, 1 [3U T fadbeui ¥ 9 9ad Iugad STk &1 90 Sl |
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Objective Question
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14 |1614 Among the following types of sampling techniques. which one is also known as *Judgemental” sampling ?

. Quota sampling

. Convenience Sampling
. Cluster Sampling

. Purposive Sampling

ufc=a- & Fefaled veRl & fegs! fade amd ufdeua & 9 & SFT ar g2

[

S Y]

1. il Uld=a-

2. GrAYTIIR Yfraa
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Objective Question

15 11615 | yiariations in time series data would be best represented by a

. line chart

. pie chart

. bar chart

. scatter plot

b =
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Y e i
T a1e
AR TR
P 3

b =

W

Al

A2

A3

Aty
4

Objective Question
16 1616
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The person who studies the symbiotic relationship between people and the media technologies which they cerate and use is identified as :

1. Media influencer

2. Media sociologist

3. Media anthropologist
4. Media ecologist

ST eafa AT SR S gRT giord 3R Waa Hifsa ieifetal & o9 & Fgoid! Hae PT L0 ST 6. 39 [0 419 I ST

SEIg 2

A2

A3

Ay

4

Objective Question

A political party broadcast is considersd ad alan

. open text

. closed text

. Lengthy text
. Liberal text

IS o & YR &1 &1 AT o7idl 82

b =
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Objective Question
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The Buddhist concept of interpersonal communication emphasizes

A. Flexible morality

B. Total isolation

C. Sensitive use of language
D. Truthfulness

E. Achievement of consensus

Choose the correct answer from the options given below :

1. A.B. C Only
2.B.C.D Ouly
3.C.D.E Ounly
4. A, B.E Only

SdR-aufads T9R & 9§y ¥ dig ¥ &1 YR g 1) 9 f3g1 oiid 82

A, T AfdEda
B. Hqut fafafaa
C. HTST T Jddt g

D. Tl
E. Ja9ead @ uif
Hie fqu T fas eyl § 9 968 Sugdd Gk &1 99 Do :

1. $ad A, B, C
2.$ad B, C.D
3.%adC, D, E
4. PATA.B.E

Al
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4

Objective Question

1911619 | Give below are two statements :

Statement I : The Hindu view of communication is based on the precept that reality is undivided.
Statement I : According to the ancient Hindu view language is a means to acquire knowledge.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I 1is false but Statement II is true

EEOR R
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Al

A2

A3

A4

o

[ ST

4

4

Objective Question

2011620 fateh List T with List IT

RIEEACIE S gl
DY : TR S Faiy ¥ feg ePiv 51 Rl W snuia & & guid sifawrsy gian g1
FUA 11 : W fEg ERHI0 & SRR HINT J 3ol ST IR Bl

46_Live_Mangmt_B1_E_1-150.html

HYTI ARG TT§

YT ARG SR ©

PYTI I 8. AT PUT I 3T &
DY HTA R, AP PUT I HA ®

SWRIdd Py & SHTale H, i 13U Y fdP eyl ¥ 9 Tl Sugdd 9Tk ®f 90 Pifo |

LIST I (Scholar)

LIST II (Specialization/Concept)

A

[Bharatha

I

Grammar

[Bharthrahari IL.

Sadharanikaran

[Bhattanavaka | [IL

[Flasa theory

B
B
D

[Panini

IV.

Speech theory

o -

FEN R

JA-I.B-II. C-II1. D-IV
CA-IT, B-IIL. G-IV . D-L
AL, B-IV. C-I1.. D-L
A-IV.B-I.C-III. D-II

it 1 A1 Gl 11 9 e iy

Choose the correct answer from the options given below:

Glls

g

11 - [afR1par/ sr@emon

|4

E

ATE

HgeR

IL

HIERUTHLO

HEAHDH

II.

IE g

TR

V.

oY fsid

A
B
C
D
BlEl

| SN

Lo

. A-L B-IIL. C-IIL. D-IV
A-IL B-IIL. C-IV. D-I
AL B-IV., C-I1. D-I
. A-IV. B-1. C-III. D-IT

fau e faseul ¥ 9 9ed SUgead STk &1 9U- BT :

file:///C:/Users/Administrator/Downloads/46_Live_Mangmt_B1_E/46_Live_Mangmt_B1_E_1-150.html

18/115



6/16/23, 7:26 PM 46_Live_Mangmt_B1_E_1-150.html
A3

Ay

4

Objective Question

21 1621 | o person X can do a piece of work worth Z 3000 in 6 days: But he engages an assistant Y. and Completes the work in 4 days. Find the

share of the assistant Y in completing the work.

. 800

.Z1000

. %1500

%1200

TS fe X. 3000 ¥98 T aTdl ot &1 &1 6 a7 & 91 = @ 6. fhq a8 U@ Ie0@ Y & SUH 2Niid $dl ¢ SR B 314
T H QRI R e © | R 1 Y1 PR H Hel @ Y &I WK 51 alel [5x4 Pl 91d B |

o =

[ V]

. 800 ¥UU

. 1000 =94
. 1500 =44
. 1200 ¥4

b2 =

o

Al
A2
A3

Ay

4

Objective Question

22 1622 || o family consists of a husband and wife, their 3 daughters and 2 sons and their 3 wives,. How many males and females respectively are

there in this family ?

5 and 4
Jand 6
.4and 5
.6and 3

faeft uftar & ufd-gell Sat 3 gfat. 2 9 ok 3R St 2 ufemt wnfie €1 3779 uar & sost: faras gow ud afgert &

o =

Y]

534
33R6
435

O

63X 3

Al

A2
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A3

Ay

4
Objective Question

231623 \What number would replace question marks (?) in the series given below ?

1.6.14. 40, 108, 296. 808. ?

. 2208
1104
1212

3
4.1804
= < T ofen O uyara s B (2) B HH-Hl S uiawiitd sui

1. 6.14.40. 108, 296. 808?

b -

2208
1104
1212

. 1804

o =

S T

Al
A2
A3

Aty

4
Objective Question

24 11624 | The house of a man is facing towards south. From the front door of the house. the man starts walking and after walking for 20 meters
straight. he turns to his left and walks for 50 meters. After this the man turns to his right and walks for 80 meters and stops there. Find the
distance from the point where the man stops to the front door of his house.

1255 m
2. 5045 m

3.50m
4. 100 m

U feki & B 1 1E AU B 3R 8 | 9= o HIHH dTed SRaTol Y oifer] 9a-11 IR &l § 3R 20 HIex W8 9e- & §1g a8 3
SRl 3R g5l § SR 50 HIcR Ie7dl § | $HP €13 oufed 30 alfeHl 3R godl § 3R 80 Hiex Iaidl § 3R 981 v iidl § | 39 Sfad
P TDh D WM F AP IHD TR & HHA dIel a1l & & DI gl F1d Piferul

1. 255 .
5045 |
509

. 100 =,

[ 2]

o
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Al

A2
A3
A4

4

4

Objective Question

25 1625 11 4 certain coding language :

(a) ‘ON’ is coded as 210
(b) “OFF" 1s coded as 540

How ‘SET” will be coded in that language ?

. 1600
. 1850
1700
. 1900

fepddi e wmT |

(a) 'ON' @ 210 & U H Bicd a1 oiar s
(b) 'OFF B 540 % ¥U F Picd fpaT ol g
S U H 'SET & $9 Geas [ddl Sigi?

B

. 1600
. 1850
. 1700
. 1900

[

o

Al
A2
A3

Ay
4

Objective Question
26 1626
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Which of the following statements are contrary to each other ?

A. All movies are thrillers

B. Some movies are not thrillers.
C. No movies are thrillers.

D. Some movies are thrillers.

Choose the correct answer from the options given below :

1. Aand C Only
2.B and C Oaly
3. Aand D Only
4. C and D Only

Profafad ¥ @ oH-5H 4 $Y- 06 gk & o &

A g1t gafaz JuimeR §id &1

B. B IaH IHEHRI T8 81d § |

c. o1g i Tafea IaEeR T8 eidr
D. $% 9afE AEa R §1d o

i feu Tt [dd el § U Ul 3R &1 94 ST

1.had ATUIC
2. HAABTAYIC
3. Had ATYI D
4.%dd CTUTD

Al

A2
A3

Aty

4

Objective Question

27 1627 1f the statement “Some trucks are not polluting vehicles is given as false then which of the following statements can be immediately

inferred to be true? ”

A. All trucks are non-polluting wehicles.
B. All trucks are polluting vehicles.

C. Some trucks are polluting vehicles.
D. All polluting vehicles are trucks.

Choose the correct answer from the options given below :

A and C Oaly
. C and D Only
.B. C and D Only
B and C Only

O
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gﬁﬁw--@gﬁwmﬁaﬁqﬁﬁﬁg"wﬁﬁﬁﬁﬁ@ﬁﬁ@W—W$@$Wfﬂﬁﬁ?ﬂﬂéﬁﬂﬁmmw

A. 99t TP TRUIUIGR] 918 81 o
B. 9ft T@ YUK a6 B B
C. P ¢ YGUUBR a6 €I €|
D. 93 IEEUIGR! aT67 ¢E 81 &

Hi feu T fas el § 9 98l Gk 31 90 Bifeiy ;

L. FaAAARC
2.%dd C 3IRD
3. %dd B, C AR D
4.FFABIARC

fAl
;AZ
{\3
o
4

Objective Question

28 1628 | \Which of the following statements is logically equivalent to the statement “All philosophers are realists™ ?

1. No Philosopher is non-realist

2. No realists are non-philosphers

3. No non-philosopher are non-realists
4. No non-realists are non - philosophers

Fofifed § ¥ oF W oy afde w9 3 -oi arife gudad g 2. sy & wga e

1. B8 1 gifTe RgyriarE e g g
2. @3 ot gunlardl IRERFF TR g g
3. 318 1 IRgiFe TR-gudard) T8 e1d &
4. P13 off Rgurfardt TR T §a §

A:A 1
.AZ
:A3
Ay

4

Objective Question
29 1629
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“T have listened to the parliament speech of the president of the country XYZ once. from that I must conclude that he is a lousy speaker.”
Which fallacy is committed in the above statement ?

. Begging the question
. Hasty Generalization
3. Slippery Slope
4, Ad Hominem
Txyz @%gﬁﬁ@ﬁﬁmﬂqwﬁw%mﬁ g5 3avd s e g o 3 te FAegurdt aam & Swie
o B -9 dP AV 3

2 =

YT BTN
 SffaaTidg IRl
e gad e

. oafad foRw & fau

b =

= W

Al
A2
A3

Aty

4

Objective Question

30 11630 | Give below are two statements :

Statement I : Nyaya syllogism is only induetive and material.
Statement II : The Aristotelian syllogism is only deductive and formal.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

TRasyafaumug:
FYF 1 : U1 Hd BT I 9190 Had AHAES AR derdfagiar gl

DY : RE] BT THIH Had HTHAHS 3R HHIRE gl |
SR DY @ SHTelle H, -iid 13U T fasbedl § 3 9ad Iugad SR &I 99 Bl |

PUFI AR IS TT§

YA RIS A T

YT FT Q. AP PYUT 11 3 A ©
DY HIA B, AP PYT I I ®

b =

W

Al

A2
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A3

3
Aty

4

Objective Question

311631 \Which of the following is a benefit that businesses receive from using the Internet ?

1. Easier use of satellite radio

2. Faster connection with suppliers

3. Improved methods of manufacturing

4. The ability to call employees on the road.

Fgfatad § soaaml & Sexc & W B3 T BH aTa ATy a1 82

1. Jedrge ST & g & TRardr

2. 3Mfiepdisi & W1y @ikd T9H

3. faf-mfor 3t ot & gor

4. ISP R FHAIRT! Y G T3 DI &

Al

1

A2 5
2
A3 3
3
Ay
4

Objective Question

32 11632 consider the equation L+M=N. Where L=(100011}, and N=(101000),

What is the value of M as represented in decimal format ?

1.40
2.35
3.10
4.5

FHERUIL +M=NH L=(100011), 3R N = (101000), T

2YEd WY § FAR=0d M &1 913 182

I\-J!—‘
ey
=

=
n

Al
A2,

2
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A3 5

3

Ay

4

Objective Question

331633 1 A web page offers a link for users to request another web page. The requested web page contains HTML code and JavaSecript code. In thi

context, identify the correct sequence of the following statements A-E.

A. The requested web page is displayed on the client computer.

B. The user clicks on the hyperlink and the web page is requested from the web server.
C. The requested web page content is transmitted to the client computer.

D. The client computer processes the JavaSeript code using the web browser software.
E. The web server locates the requested web page.

Choose the correct answer from the options given below :

b
W

1 9 0
nnPo

e
ooy
)

U a9 Ul WIe ! [diep OR W & 070 gk 99 U Wla- & [07d STHEd SRl § | Hafdd 99 U 8 Tadiuaud (HTML) 318 3R
TraT %y ®1s §1 59 dey # Fufafad sl A - E & U8l simd @ uga 3ifo)

A. F1afed 99 U9 UTed R W UERId [Sar gl

B. Wial SIS i R f® Fdl & iR 99 o I 4 Ua & g Hde o srar gl
c. Fafed 99 OS ! favgasg Te® Hrgexe®| JaTRd @1 ol g

D. TEF SR, 49 ST3oR AIFCddR Bl Y4l S gU o7lal (Y HIS Bl Se HRal o
E. 39 UdR Fafad 99 O &1 9o @l ¢

i feu U fasedi T O IE1 3R B I Bifol -
1.B.E.C.A.D
2.B.E.D.CA
3.EEB.C.D.A
4.B.E.C.D.A

Al

1

A2
2

A3

3

Ay

4

Objective Question
34 1634
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Give below are two statements :

Statement I : Shareware is limited - functioning freeware. and normally expires after a week or month.
Statement II : Shareware code can be modified and redistributed.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

R Py RUME:

PYUT 1 : TR AT-PHBRI WIWR &, 3R ATHIR W UPH T8 U1 U H18 P &1 U1 6l oial o
FYT 11 : TIRATR FIS B G 3R g7:3aRa oo s g 1

TWRIA DY & 3HTelid 1, i 13U U fdbedl T ¥ a9 U ST &1 99+ Bl |

PYTI ARG TT§

YT ARG ST §

PYTI I 8. AT PUTII 3 &
YT HIA R, AP PYT I HA ©

[

=W

Al
A2
A3

Aty

4

Objective Question

35 1635 | Which of the following should always be regarded as security rizks to computer systems ?

A. Chat rooms
B. Cookies

C. Pharming
D. Virus

E. VoIP

Choose the correct answer from the options given below :

1. A and D Oaly
2. C and D Only
3.B and D Oaly
4. A. D and E Only
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Fafaraa & 5! Yaa $rgeR S yonferdl 3 Jafid gRem SHias JH=1 o= =1feu|
A UEER

B. Polu
. gifEn {Pharming)

D.agd
E. @ 3 318 Y (VoIP)
Hi feu T fas el § 9 98l Gk 31 90 Bifeiy ;

1. $adAIRD
2.%dd C 3R D
3. %dd B 3R D
4. FPAAA.DIRE

{\ 1
.A2
{\3
op

4
Objective Question

36 11636 | \When a water body gets enriched with nutrients, the process is called as :

1. Oligotrophication
2. Eutrophication

3. Mesotrophication
4. Dystrophication

e U@ o e/ SR UiYd dal 9 98 / 95 oidl ¢ dl 39 Wihdl & Hgl ol § :

1. 3feqardieRo
2. guiNo

3. AN
4. g

Al
A2
A3

Aty
4

Objective Question
37 11637
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Which of the following statements are correct in respect of Green House Gases ?

A. They are generally of light green colour

B. They absorb thermal radiations emitted by earth.
C. Water vapour is a green house gas.

D. Green house gases cause global warming.

E. Ammonia (NH3) is a green house gas.

Choose the most appropriate answer from the options given below:

B. C. D Only
C. E Only
3.B.C.D Ouly
4.A.B.D.E Only

U 5139 16l & e d Fafad sy A3 e 9 U8l 82

A. 3 THIRIGE: B0 8X C1 P BIdl &

B. 3 gt I Iufiold ardia fafamr &t sraifid ot €1
C. o A A ERE A T

D. ¥ 8139 19 & HRUT YASHT SHU g 8

E. 311 (NH,) Th S 8reu 9 )

A feu 7T fomedl § 9 98l SR &1 994 Bt ;

1. A,
2.A,

1.$dd A, B,C.D
2. FdAA, C.E
3.%4dd B, C,D
4.$bdd A, B,D.E

Al
A2
A3
Ay
4
Objective Question

38 11638 | Which of the following air pollutants help in the formation of photochemical smog ?

1. Carbon monoxide
2. methane

3. Oxides of Sulphur
4, Oxides of nitrogen

FafafEd o ®17 - 91 a1y gaue U W8/ ¢ e & i T 9gdl B Bdl 62

1. PTE HHGTES

2. 41

3. HeB & HFHIZSH
4.7 IECISH & g SH

Al
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A2
A3

Ay

4

Objective Question

39 ||1639 Through enrichment process, concentration of which uranium isotope is increased in the natural uranium?

1.U-234
2.U-235
3.U-238
4.U-239

W fa® g ¥ g ey gaite & 950 &f Sa¢i- uithal gR1 a¢dl offdl 87

1.U-234
2.U-235
3.U-238
4, 1TU-239
Al
1
A2,
2
A3 3
3
Ay
4

Objective Question

40 11640 | Three ‘Rs’ used for the mitigation of solid wastes are

A, Recover
B. Reduce
C. Reuse
D. Restrict
E. Recycle

Choose the most appropriate answer from the options given below :

1. A. B. C Only
2.B. C.D Only
3.B. C, E Only
4, C.D. E Only
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T <SR- T TERT 31 ST & U= / R0 & P 9 8. 3 ¥ -

A Rpax
B. K™
c.fgw
D.¥a
E. argsa
Hi feu T fas el § 9 98l Gk 31 90 Bifeiy ;

1.$add A, B, C
2. %4gd B, C,.D
3.%4d B, C.E
4.9ddC, D.E

Al
A2
A3

Ay
4

Objective Question
41 1641

Which was the first education commission of independent India?

1. Sargent commission

2. Kothari commission

3. Radhakrishnan commission
4, Mudaliar commission

T@TE YR o1 YuH fR1&m AT SE-ar an

1. gRle 3T
@aﬁ%
3. AYTHUH

4, TSR 3T

{\1
{\2
63
o

4

Objective Question
42 1642
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The National Education policy document of 1986 revised in 1992 suggested

1. Use of multimedia for distance education.
2. Linking degrees with jobs.

3. Abolition of AICTE.

4. Focus on research. only for degrees.

1992 T e 1986 P P e ifa axardst & ged fear mm

1. G0 i & forg agamerst (@ecHifsan ot v

4. W%ﬁ?ﬂ%mm—ﬁwwmﬁﬁ|

Al
A2
A3

Ay

4

Objective Question

43 1643 ' The committee for the evolution of the new education policy recommended that no university in India should have more than

affiliated colleges :

.50
.60
75
100

f&w%ﬁ@@ﬁﬁ%ﬁﬁﬁ%wﬁ%ﬁﬁmﬁ T 3 HIaS Jaz Tel o

J—Luldl—‘

50
60
75
. 100

O

Al
A2
A3

Aty
4

Objective Question
44 1644
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Which of the following universities have their locations in Bihar ?

A. Vallabhi

B. Vikramshita

C. Shridhanya katak
D. Odantapuri

Choose the most appropriate answer from the options given below :

1. Aand D Only
2.B and D Only
3. Aand B Only
4.B and C Only

fFrafifad 3§ 9 wH-aH 3§ fayfaeme fagr 4 fRud g2

A geaHt
B. fawmafRman
C. deg Hed

D. HigrIgt
i fau U fasedi T 9 Ig1 3R &1 98- Bifo :

1.dd Aand D
2. P Band D
3. $dd Aand B
4. PadBand C

Al

A2
A3

Aty

4

Objective Question
45 1645 | yWhich of the following universities were established in the year 1857 7
A. Caleutta University
B. Bombay University
C. Madras University
D. Allahabad University

Choose the correct answer from the options given below :

.A.Band D Oaly
.A.B and C Only
3.B. C and D Ounly
4. A. Cand D Only

o =
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Fafataa ¥ 9 $1H-3 Ay ad 1057 T Rt gr e

A Aol fayfaenay

B. did fagfaeray

C. ga foyfaemag
D. SaTelalg fayfaenay

=t fau U fosenl § 9 a9 SUdad SR &1 997 Difvlg :

1.$dd A. Band D
2. %A A Band C
3. %4dd B, Cand D
4. PdA A, Cand D

Al
A2
A3

Ay

4

Objective Question

46 1646 | pead the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, 1n¢
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in their
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. The
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680. imports of coal to
London increased from 20,000 tonnes year to 360000 tonnes and London beeame a city of ‘great stinking fogs’. These were only really tc
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was foun
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

London became a city of “great stinking Jogs™ as a result of

. Household fires

. Cold temperatures

. Coal combustion

. Excusive moisture in the air

| S

a0
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Y TR $T UieU 3R A Ry uyi & SR 2ifon -

Hid B Bl TTiafafy T el € forer uaiokor W Big wHId -1 USdl 811 9iedl § Q1S o] $g IR 3 9aiaRuity &fd Sl o
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Objective Question

47 1647 | Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, nc
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in their
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. The
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal to
London increased from 20,000 tonnes year to 360000 tonnes and London became a city of ‘great stinking fogs’. These were only really tc
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was foun
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

Between 1580 and 1680 imports of coal to London increased

Marginally
Insignificantly
3. Negligibly
4. Substatially

| SR
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Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, nc
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in their
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. The
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal to
London increased from 20,000 tonnes year to 360000 tonnes and London became a city of ‘great stinking fogs’. These were only really tc
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was foun
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the contrel of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

The fog of London in the second week of December 1952

A. Reduced the number of deaths.

B. Increased the number of deaths.

C. Rendered the atmosphere over a radius of 20 miles smoke free.

D. Rendered the atmosphere over a radius of 20 miles opaque.

E. Did not make any difference to the air quality or to the number of deaths.

Choose the correct answer from the options given below :

.B. C and D Only
B and D Only
C.D and E Only
D and E Only
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49 1649 Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage. ne
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in their
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. The
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal to
London increased from 20,000 tonnes year to 360000 tonnes and London became a city of ‘great stinking fogs™. These were only really tc
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was foun
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Aets of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the control of Pollution Aet
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

The Control of Pollution Act

. Was brought in almost 20 years after the Clean Air Act of 1956
. Stopped all industrial activity.

. Aimed at improving air quality

. Focused mainly on dealing with smoke in cities

. Focused on environmental protection.

Mmoo

Choose the correct answer from the options given below :

. A and E Only

.B. C and D Ouly

. A, Cand E Only
.A.B. Cand D Only

R O
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Read the passage and answer the questions that follow :

Few of Man’s activities have zero environmental effect. For centuries, societies have suffered a wide variety to environmental damage, nc
least in terms of the air pollution that primitive. uncontrolled methods of combustion caused. People of Roman Britain, with fires in their
huts. found the smoke a hazard to health and examination of human skulls shows a pitting that indicates a high frequency of sinusitis. The
UK was the first country to widely experience massive industrial development based on coal. Between 1580 and 1680, imports of coal to
London increased from 20,000 tonnes year to 360000 tonnes and London became a city of ‘great stinking fogs’. These were only really tc
disappear some years after the episode in December 1952 when cold temperatures and moist air resulted in the condensation of moisture
on particles in the air from coal combustion. Over a radius of 20 miles the resulting fog rendered the atmosphere opaque and its was foun
that in the week ending 13 December 1952 there had been an excess of 2851 over the usual weekly number of deaths. In response the
Clean Air Acts of 1956 and 1968 dealt mainly with smoke in cities. Two decades after the smog disaster the contrel of Pollution Act
(1947) was brought in and systematically began the long haul towards comprehensive improvements in air quality as part of overall
environmental protection. Similar experiences were encountered across Europe and North America during the 20th century.

The passage highlights mainly.

1. the association between vehicular pollution and development
2. air pollution and human health

3. the industrial development of UK.

4. the similarities in development of UK. Europe and North America.
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